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Listing 1: GroupDatalD 00O DO OO OO Omain.gld test.cxx

GroupDatalD a(2);
a.put_data (0,2.);
a.put_-data(l,—3.);

GroupDatalD b;
b.put_-imax (2);
b.put_data (0,5.);
b.put_data (1,4.);

GroupDatalD c=a+b;
GroupDatalD d=a—b;

real cO=a.get_dat(0)+b.get_dat (0);
real cl=a.get_-dat(1l)+b.get_dat (1);

real tmp=axb;
GroupDatalD e=a.mult(b);

e.show_self ();
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U000 getdat U0 OO0O0O0DOO0DOODOOODOOODOOODOOODOODOOODOODOOOO
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GroupDatalD OO OOOOO0OO0ODOODOOOOOOCOOOODOODODOOO0O0019000000 show_self
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Listing 2: GroupData20 OO 000000 Omain.g2d_test.cxxO

GroupData2D a(2,2);
.put_data (0,0 ,2.);
.put_data (0,1,5.);
.put_-data(1,0,—3.);
.put_data(1l,1,—3.);
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GroupData2D b;
-put_yx(2,2);
.put_data (0,0,5.)
.put_data (0,1 ,4.)
0.

.put_data(1,0,—1.);
)

GroupData2D c=a+b;
GroupData2D d=a—b;

coToTooT

.put_data (1,1,

real c00=a.get_dat(0,0)+b.get_dat (0,0);
real cOl=a.get_dat(0,1)+b.get_dat (0,1);
real c02=a.get_-dat(1,0)+b.get_-dat (1,0);
real c03=a.get_dat(1l,1)+b.get_dat (1,1);

GroupData2D e=ax*b;

e.show_self ();
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Listing 3: 00 0O0O0OO0OD0OO Groupbata2D OO OO DOOOODOOOOmain.g2d_test.cxxl

GroupData2D a(2,2);
real ainp[]={
2., 5.,

}s
a.put_data(ainp);
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Listing 4: GroupData2D 0 0 OO OO GroupData2D DO O OO O OO O Omain.paste2d_test.cxx[]

GroupData2D a(2,2);
a.put_-data (0,0,2.);
a.put_data(0,1,—5.);
a.put_-data(1,0,5.);
a.put_-data(l,1,—3.);

GroupData2D b(5,5);
b.set_zero ();
b.PasteGroupData2D (1,2 ,a);
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Listing 5: GroupData2D D OO O OO Groupbata2D DO O OOO0OO0OOOOODOO

x:5 & y:5
*0%0.000000e+4+00:0.000000e+00:0.000000e+00:0.000000e+00:0.000000e+00:
*1%0.000000e+400:0.000000e+4+00:2.000000e+00: —5.000000e+400:0.000000e+00:
*2%x0.000000e+400:0.000000e+4+00:5.000000e+00: —3.000000e+400:0.000000e+00:
*3%0.000000e+400:0.000000e+400:0.000000e+00:0.000000e+00:0.000000e+400:
*4%0.000000e+400:0.000000e+400:0.000000e+00:0.000000e+00:0.000000e+00:

UO000Groupbata2D DU DO DOO0ODOODN GroupDatalD U D UOODDOOOOOODOOOOOODOOO
PasteGroupDatalD U D OO OOOOOODOOOOOOODOOOO

Listing 6: GroupDatalD [0 0 U O GroupData2D DO OO0 O 0D O Omain.pasteld_test.cxx[]

GroupDatalD a(3);
a.put_-data (0,2.);
a.put_-data(l,—5.);
a.put_-data (2,3.);

GroupData2D b(5,5);
b.set_zero ();
b.PasteGroupDatalD (1,2 ,a);
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Listing 7: GroupDatalD OO OO GroupData2D U0 OO OO0OOODOOOODO

O UL WN

x:5 & y:5

#*0%0.000000e+400:0.000000e+00:
#1%0.000000e+00:0.000000e+00:
*2%0.000000e+00:0.000000e+400:
*3%x0.000000e+00:0.000000e+00:
*4%0.000000e+400:0.000000e+00:

0.000000e+00:0.000000e+00:0.000000e+00:
2.000000e+00:0.000000e+00:0.000000e+00:
—5.000000e+00:0.000000e+400:0.000000e+-00:
3.000000e+00:0.000000e+400:0.000000e+-00:
0.000000e+00:0.000000e+00:0.000000e+00:
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Listing 8: GroupDatalD OO GroupData2D U0 DO OO0OO0O0OODOOO0OOOOOOOOO
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GroupDatalD a;
a.put_-imax (3);

GroupData2D b;
b.put_yx(5,5);
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Listing 9: GroupData2D 00O OO0 OO O OO Omain.inverse.cxx
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GroupData2D a(2,2);
a.put_-data (0,0,2.);
a.put_data (0,1,5.);
a.put_-data(1,0,—3.);
a.put_-data(1l,1,—3.);

a.show_self ();
GroupData2D b=a.inverse ();
b.show_self ();

a.Dolnverse ();

a.show_self ();

000000000000 Oinverse0 0000000000000 O0O0O0O0O0COO GroupData20000O0O0OOONO
U0obO0oobOoOOooobOboobboob0oo00obO0oobO0o0b0o00b013000000 boInverseDOOOOOODO
oood
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Listing 10: 00000000000 OQO Omain.solve_axb.cxx[d
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GroupData2D a
a.put_data (0,
a.put_-data (0,
a.put_-data (1,
a.put_data (1,

(
0
1
0,
1,

GroupDatalD b(2);
b.put_data (0,3.);
b.put_data(1,—1.);

a.solveaxb_mod(b);
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b.show_self ();

GroupData2D c (2,2
c.put_data (0,0,

c.put_data (0,1
c.put_-data (1,0,
c.put_-data (1,1,
a.solveaxb_mod (c);

c.show_self ();
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dx(t)
= Ax(t)
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x(t) = exp (At) x(0)

(4)

0000000 exp(At) 000000 Matrix exponential D0 0000000000000 0OO0OOO GroupData2D
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Listing 11: GroupData2D U0 OO0 OO0 OODO OO UOmain.mat_expl.cxxl

GroupData2D a(2,2);
.put_data (0,0 ,2.);
.put_-data (0,1,5.);
.put_-data(1,0,—3.);
.put_data(1l,1,—3.);

o

oA

GroupData2D b=a.CalMatrixExponentialByPade (1.);
b.show_self ();

GroupData2D c=a.CalMatrixExponentialByChebyshev14 (1.);
c.show_self ();

GroupData2D d=a.CalMatrixExponentialByMMPA32 (1.);
d.show_self ();

GroupData2D e=a.CalMatrixExponentialByChebyshevNew14 (1.);
e.show_self ();

GroupData2D 0000 O0ODO0OOOOOOOOOOOOOODO (40000000000 COO0OOOOOOOOO
oboooboboooooboboooobobooooobobooooobooooOoobooooooboooon
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e 7000 CalMatrixExponentialByPade 0D UUODO[6/6)00 PadeO D (1000000000

e 10000 CalMatrixExponentialByChebyshev1i4O OO0 0000140000000 0000000O0OO Cheby-

shev rational approximation method, CRAMO 2|0 00000000
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e 13000 CalMatrixExponentialByMMPA32 0O OO OIOO320000000000O0O0O QO Mini-max poly-
nomial approximation, MMPAO 3]0 00000000

e 16000 CalMatrixExponentialByChebyshevNew14 OO DOOOO 1400 CRAMUOUOOOOOOOOOOO
00o0000o00o0oDO0o0o0oOoooUoO0 4oooo

00000000000000000000x(0)0 At0000000 x¢) 0000000000000 0O0O00
00000 400000000 o0oouooooooooooo

Listing 12: OO DOO0O0OOD0OOOO0OO0OCOCODOOO O main.mat_exp2.cxxO

GroupData2D a(2,2);
a.put_-data (0,0,2.);
a.put_-data (0,1,5.);
a.put_data(1,0,—3.);
a.put_-data(l,1,—3.);

GroupDatalD x(2);
x.put_data (0,1.);
x.put_data (1,1.);

GroupDatalD xl=a.CalMatrixExponentialByKrylov(x,1.,2);
x1.show_self ();

//GroupDatalD z2=a.CalMatrizEzponentialByChebyshevlj (z,1.);
GroupDatalD x2=a.CalMatrixExponentialByChebyshev16(x,1.);
x2.show_self ();

//GroupDatalD z8=a.CalMatrizExponential ByMMPA18(z,1.);
GroupDatalD x3=a.CalMatrixExponentialByMMPA32(x,1.);
x3.show_self ();

GroupDatalD x4=a.CalMatrixExponentialByChebyshevNew14 (x,1.);
x4 .show_self ();

0000O0Ox(0)000o0000Oo0o0oOoU0oO0oO0o0Oo0oO0oOoUO0OoOO0o0Oo0oO0ooOoUDto0onoo
0000000000000 CalMatrixExponentialByKrylovUO ODOOO 11 0000000000000000O
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GroupData20 0000000000000 0O00O00O00O0000O00NON0ON0ON0 ADDOOOOODOODOO
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ooopDOO0O0O0OOOOOOOCOOOOOOODOACQOOOOOOOOOOOCBZOOOOOOOOOOODOOO
0000 Jacobi reduction0 0 0000000020000 Groupbata2db 00 000000000000 DOOOOOO

Listing 13: GroupData2D OO O0OO0O0O0O0O0O0OODDO UOmain.mat_diag.cxx

GroupData2D a(2,2)
a.put_-data (0,0
.put_data (0,1
.put_data (1,0
.put_data (1,1
.show_self ();
GroupData2D b,c;
a.Diagonalization(b,c);

O

3

b.show_self ();
c.show_self ()

OO00D0O00O0 Diagonalization 0 OO OO0OOOOOOOOODODOOODOOOODOCOOOOOOOD DOOOO
oooooopbobob0 XOoooboooooobuoboooooobooooooo4OoO Groupbata2b 0O ODO
UobooboobooboooboobOdvDcOO0DbMODOO00 DiagonalizationOOOOOOOOOOOODO
oono
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GroupData2D D0 OO0 O0OOO0OOOOOOOO0OCOODOOODOOOOODOOOOOOOOOOODOOODOOOO0OO
AODODOODOAATO ATAOOOOOODODODDOOOOOOO Jacobi reduction00000000000000
A0D000000000000003 OJacobireduction 000000000000000000000000000
gbooobooooboobooooboooooobooooboboooogooboon
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Listing 14: SVDTool DO OO0 O0DO0O0OOD OO Umain.svd_sample.cxx[]

#include ”Numeric.h”
#include ”SVDTool.h”
int main()

int m=3;
int n=3;

real data_org[]={

GroupData2D a(m,n);
a.put_-data(data_org);

//a.show_self();

SVDTool svd;

real sv_cond=1le—10;

// [Minimum wvalue for singular wvalue criteria]

// If calculated singular wvalue is smaller than this quantity,

// it is regarded as NOT singular wvalue BUT numerical rounding error.

real print_option=true;
// [Print option]
// If this option is [true], singular wvalues are printed on screen.

// Singular wvalues are calculated from eigenvalues of two matrices, AA"T and A"T A,
// so a pair of singular wvalues is printed.

// Theoretically these two wvalues should be indentical.

// If not, it suggests that numerical calculation does NOT work well.

// In such cases, please ask Chiba.

svd.SVD(a);
vector<real> sv=svd.GetSingularValue(sv_cond, print_option);

GroupData2D umat (m,n);

GroupData2D vmat (m,n);

for (int i=0;i<m;i++){

for (int j=0;j<n;j++){

umat. put_data(i,j,svd.GetUdata(j,i));
vmat.put_data(i,j,svd.GetVdata(j,i));
b
¥

cout<<”#\n#_U_matrix\n#\n” ;
umat.show_self ();

cout << #\n#_Vomatrix \n#\n" ;
vmat.show_self ();

//svd. MatrizxReconstructionCheck (3);

return 0;

}

6D 0000000SVDTool OO ODOOODO SVDOOODOOOOODOODOO Grouphata20 OO OOOODON
Uobo00obo0o0obO00obo0oboob0o0b0on0g3rbid GetSingularValue DO OOOOO0O0O0OOO0OOOOO
U0b0OO00000vectorJO000000O0D0OO0O0DOO0O0O0O0DOOO0100000 sveeondO0OOO0O0O0O0O0OOOO
O0o0b0000200000 printeption000000000D000000O0O0D0DOOOODOOGetSingularValue
oooobooooboo

Listing 15: SVDTool O 0 OO GetSingularValue OO O OO OOO

# Warning in MatrixDiagonalization .
# Matrix becomes diagonal at iteration 1
# The size of matrix is 3

S00 A0 A=UuDVTOoOoOoOoO0O0OO0OO0DO0O00000O0DDDDODOOO0O0O00oDoDDDDAT =vDTUT gooOoooDoDDODAAT =
UDVTVDTUT = UDD?TUT = UD2UT 0 ATA = vDUTUD?VT = vDDTVT = vD2vT 0oonooAAT O ATAODOOO
0 AD0O00O0OODODOODOOO0OO0000O0OODDDDD




© 00U
= oY FHHFHH

10
11
12

OO0 Utk W -

# The number of non—zero elements is 5

Singular value from M (AA"T) and N (A"T A)
(Imaginary values are regarded as zero.)
(If two values are different from each other,
you need to be careful about the results.)

3.1622776602e+00 3.1622776602e+00
1.7320508076e+00 1.7320508076e+00

SVDTool 00000000000 D0DDOD0OD0D0O0O0AATOATADODOOOOOOOOOOOOOOOOOOOOO
co0bOoO0ooO0o0ooo0ooooO00ooOoOooDoOoO0o 2000000 tzrveb 000000 ODOOOOOOO
gooooooooopooUooooOoopDoo0oDbDoo0OooDoU0ooooO00ooDoo0OooDoogoDoooo
ocoooooooooooooooooooooobooboooooboboooooOooooDbDboooobOoDOooDbboooo
cooooooooooooooooooobo0ooOoDbDboOoooobDboOooooOoOOooOoObOoooDOboOoOoDo
O0OD0Listing 1400000svDO0O0O00000000O0D0OO0OO0ODOOOSTeol DOOODOOODOOOOOOO
O0wOO0000000vOODOOOOO0DOOOO000000000D000 GetUdatall GetVdataOO OO DO OOO
OO00D0O000D10000000D000 ndexODOOODOODOOOODOOODODOOODOOODOOODODOOO
oobOo0ooOO0OO0OOO0OOObOOObOOO0O1000000002000000000000000000Listing 140
gobooboooobooobooobooooobo vovioooobooooo«:0b00bo0bobooboboobooon
ooooooooooD
ocooooooooobooooooooooooooooooooooooDoooooobOboOooooObOooooOoO
O000D00 MatrixReconstructionCheck UO OO ODOOO0OOListing 1400000000000000000OO
goooooooooooooooOoopoooOooooo0OooDo00ooDoo00oOooo0ooDoogooDoooo
OO00DO0OD0O00D0O0O00DbO0OO000rg. dataO0O0D0O0OO0OD0ODOOODOOOODOAbs. Diff. to Ref. 00O
0000000000 000DO0O0O0000DODOORatio to Ref. OO0 O0O0O0O0ODOOOOOODODOOOOO
oobooooboOO0oboo0b0o0obO0o0obO0bo0o0bO0o0b0o0obO00ob00b0O0b0O000 Groupbatad O OODO
gooooooooooooo

Listing 16: SVDTool O 0 O 0O MatrixReconstructionCheck DO DO OO OOMO

# Matrix reconstruction check

#
# The number of basis vectors (dimension) : 3

#

# y=0, x=0 : Org. data = 1 / Abs. Diff. to Ref. = 0 / Ratio to Ref. =1

# y=1, x=0 : Org. data = 1 / Abs. Diff. to Ref. = —1.11022e—16 / Ratio to Ref. =1
# y=2, x=0 : Org. data = 1 / Abs. Diff. to Ref. = 0 / Ratio to Ref. =1

# y=0, x=1 : Org. data = 0 / Abs. Diff. to Ref. = —1.79439e—17 /

# y=1, x=1 : Org. data = —1 / Abs. Diff. to Ref. = 0 / Ratio to Ref. =1

# y=2, x=1 : Org. data = 1 / Abs. Diff. to Ref. = 0 / Ratio to Ref. =1

# y=0, x=2 : Org. data = 0 / Abs. Diff. to Ref. = 3.58878e—17 /

# y=1, x=2 : Org. data = 2 / Abs. Diff. to Ref. = 0 / Ratio to Ref. =1

# y=2, x=2 : Org. data = —2 / Abs. Diff. to Ref. = 0 / Ratio to Ref. =1
oo
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A 0000O0D0ODOOO0O0OODDOUOOUOODDODOOOODbDbDOOoUObDDbDOOoODDOO
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2300000000000000
S — Ax() (6)

0000000000000000000
x(t) = exp (At) x(0) (7)

O00OOexp(At) 00000000000 DODOOO0OOOOOOOOOOODOOUOOOOOOOOOOOODOOODO
oooad
00000000 200000000000

d [ xi(t) Y\ [ A Ap x1(1)
dt ( x(t) > B < Ary Ap ) ( x2(t) ) )

O0000O00OD0 exp(At) 0000000000000 OOO0OO0OO0ODO0O0O0O xOOOOO IODO0Ox:0x20
00o00boOoo0 LO0LODOOO0I=5L+ LM
0 @®Uoooooooooooo
dX1<t)
dt
dXQ(t)
dt

0 (10)0000000 exp(—Agt) 00000000 exp(—Agt)Ays = Agyexp(—Agt) 00000000

= Anxi(t) + Arexa(t), 9)

A21X1 (t) + A22X2 (t) (10)

%(GXP(—Azzt)Xz(t)) = exp(—Aagat) Ag1x (1) (11)

OO0 [tLt+A)000000000000
t+At
exp(—Aaga(t + At))xa(t + At) — exp(—Aaga(t))xa(t) = / exp(—Agat") Aoy xy (¢)dt’ (12)
t
O00D0000 exp(Age(t+At) 0000000 Dexp(A)exp(B)=exp(A+B)0000000000O
t+At
Xg(t—l—At) = eXp(A22At)X2(t) —|—/ eXp(Agz(t —t/ —‘rAt))AQle(t/)dt/ (13)
t
000000 {=¢—¢t00000di=d' 00000000000000
At ) o
/ eXp(AQQ(At — t))A21X1 (t)dt (14)
0
O0000000000x,(1)00000000000000000000000000000000
(15)
0000 (4000000000000

eXp(AQQ At)

At At
A 1 N " oa

(/ eXP(—A22t)dt> Aoixi(t) + At (/ texp(—Amt)dt) {Aa1 (xa(t+ AL) = x1(¢))} (16)

0 0
0 (le)0000000000000o0oooUoooo

At o
/ exp(—Agt)dt = —A3;) (exp(—AxnAt) —1), (17)

0

At
/ fexp(—Ang)df = —A2_21At eXp(—AQQAt) — (A2_21)2 (eXp(—Angt) — I) (18)
0
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eXp(AggAt) [—A2_21 (eXp(—AggAt) - I) A21X1 (t)

+ {—A2_21 eXp(—AggAt) — (Agi) (eXp(—Angt) — I)} A21 (Xl (t —|— At) — X1 (t))] (19)
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